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This is great, but it is important to remind ourselves
that this is not the only approach.
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Y = f(Xl,XQ,Xg,X4, e — OO)
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Traditional approach

Y: dependent variable of X: We hypothesize an
interest explanatory variable

= Number of crimes < « Poverty, unemployment

+ Prevalence of disease <« « Provision of public health

* Income < » Education level

* Innovation output <« + Number of universities,

government funding
+ Pollution < * Income

TRUTH

Explaining Y one
variable at a time...

Explicitly assume Y is
the consequence of
many, many, many
explanatory
variables.
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The ‘“view from above”

The study of probability distributions,

not of means.

The study of the processes that give rise to the

distributions,
not of specific pathways/mechanisms.

The study of scale and how phenomena in a system

change with it,
not just looking at a single city and a single
scale.
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Four facts (among others)
to try explaining

log-log > straight line

each phenomenon with its own
slope,

with its own intercept, and
with its own dispersion.
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Limitations/Future Directions

* Too simple. E.g., there are no dynamics. Hence, no
sense of time-scales for how phenomena change in
time.

* Cities are internally very heterogeneous, and
segregated. How to include spatial heterogeneity!?

* Too discrete (person in or out).
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The importance of
emergent phenomena

To understand a systemic phenomenon, consider

how many parts and
how they interact,
than

what are the parts.

The fact that we understand the liquidity of water means that we
understand liquidity in other materials.




Urban “outcomes” as

emergent phenomena
(2 my research © )
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